Y5 Quick starts

1. 1 / 6 Of 18 = Fractions Decimals | Percentages
2. 2/6 of 18 = 02 s i 27
n Complete ! n Here is a rectangle.
3. 3/60f18= 1A — O s |
0 27="3— :
4. 2967 + 345= 2/5 6 6 |:| o
1/2 0.5 50% Nl L Anaw shape ls made up of thres o
5. 591-23-= 600/2 Bl A bottle is a third ful U :m ::;h::ad p of three of
6. 7 16 + 1/6= 0.7 Mary puts 320ml of juice into the ﬁ
75% bottle. - E
7. 1 5/8 - 3/8 — = 'ﬂ O | |
o 09 The bottle is now full :
8. 25 A) of 20 = . How much juice does the bottle hold !
. 1/1 when full? i What Is the perimeter of the new
9. 25% of 60= L hape? _
: ‘I".ﬂ.:'fdl'h\lil.llf\
10. 25% of 80 = '

10 Order the numbers below:
0.1 0.09999 0.2 1 0.01




Y5 Quick starts

1. 1 / 6 Of 24 = Fractions Decimals | Percentages
1/10 3 small plant pots cost £6
2. 2/6of 24 = 0.2
3. 3/60f24-= 14
30%
4, 2867 + 395= 2/5
_ 1/2 0.5 50%
5. 5871—29= o
6. 716 + 4/6= 0.7
_ 75%
7. 1 2/8 - 3/8= 8/10 2 large plant pots and 6 small plant pots cost £21
8. 75%of20= - 0.9 What is the cost of 1 large plant pot?
9. 75%of 100 =
10. 75% of 60 =

10 Order the numbers below:
4 45 099999 0.1 0.0999 0.01




V0 ® N OO w D

—
o

1/6 of 48 =

2/6 of 48 =

3/6 of 48 =

2.7 +39=
58—29-=

7 1/5 + 4/5=
1 1/8 - 3/8=
75% of 40 =
75% of 100 =
75% of 160 =

Y5 Quick starts

10 Order the numbers below:

4 45 099999 0.1

Fractions Decimals | Percentages
1/10
0.2 What fraction of each rectangle
1/4 is shaded?
30%
2/5
1/2 0.5 50%
60%
0.7
75%
8/10
0.9
1/1
0.0999 0.01

~—

|z| Work out the following fraction

calculations.
(a) % +%
@l-g-5
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1/6 of 120 =
2/6 of 120 =
3/6 of 1200 =
2869 + 95=
9871—623 =
91/6 + 1/6=
4 1/8 - 4/8
25% of 40 =
50% of 40 =
75% of 40 =

09 02 o01

Y5 Quick starts

10 Order the numbers below:

Fractions Decimals | Percentages
1/10 KS2 Problem Solving Questions
Friday 3 Morck 207
0.2
1/4 n Complete
30% a5
2/5 6 °
12 0.5 50% N Abottleis athird ful. [
60% o
0.7 Mary puts 320ml of juice into the
75% bottle. -
§/10 ) The bottl full \j
e bottle I8 now full
0.9 How much julce does the bottle hold
1/1 when ful?
0.9999 0.09

' [l Here is a rectangle.

10em

-

A new shape Is made up of three of
these rectangles.

| | |

What is the perimeter of the new
shape?
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